
IFT-3101 Compilation et interprétation Révision hiver 2011

Exemple 5.2 avec l’entrée : 3 ∗ 5 + 4n

Productions Règles Sémantiques

L→ E n L.val = E.val

E → E1 + T E.val = E1.val + T.val

E → T E.val = T.val

T → T1 ∗ F T.val = T1.val × F.val

T → F T.val = F.val

F → (E) F.val = E.val

F → digit F.val = digit.lexval
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Productions Règles Sémantiques

L→ E n L.val = E.val

E → E1 + T E.val = E1.val + T.val

E → T E.val = T.val

T → T1 ∗ F T.val = T1.val × F.val

T → F T.val = F.val

F → (E) F.val = E.val

F → digit F.val = digit.lexval
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Exemple 5.2 avec l’entrée : 3 ∗ 5 + 4n
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T3 → F3 T3.val = F3.val

n

+

E1

T1E2

T2

L

F1

* F2T3

F3

digit1 3

3

3 5

5

15

15

4

4

4

19

19

digit2

digit3



IFT-3101 Compilation et interprétation Révision hiver 2011
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F2 → digit
2

F2.val = digit
2
.lexval

n

+

E1

T1E2

T2

L

F1

* F2T3

F3

digit1 3

3

3 5

5

15

15

4

4

4

19

19

digit2

digit3



IFT-3101 Compilation et interprétation Révision hiver 2011
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Productions Règles Sémantiques

L→ E n L.val = E.val

E → E1 + T E.val = E1.val + T.val

E → T E.val = T.val

T → T1 ∗ F T.val = T1.val × F.val

T → F T.val = F.val

F → (E) F.val = E.val

F → digit F.val = digit.lexval
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Règle concrète :
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L→ E1 n L.val = E1.val

n

+

E1

T1E2

T2

L

F1

* F2T3

F3

digit1 3

3

3 5

5

15

15

4

4

4

19

19

digit2

digit3


